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NSC/NSS — Marking Guidelines/Nasienriglyne

NOTE: e Ifacandidate answers a question TWICE, only mark the FIRST attempt.
+  Consistent Accuracy applies in all aspects of the marking memorandum.

LET WEL: e indien 'n kandidaat 'n vraag TWEE keer beantwoord, merk slegs die

EERSTE poging.

o Volgehoue akkuraatheid is DEURGAANS op ALLE aspekte van die
memorandum van loepassing.

QUESTION 1/VRAAG 1
1.1.1 xP+x-12=0
(x - 3)(" + 4) =0 v factors/formula
x=3o0r x=-4 v answer
v’answer (3)

1.1.2 3x2-2x=6
3x2-2x—6=0
.22 JC2) —4G)-6)
2(3)

x=1L79 or x=-112

v standard form

v substitution into
correct formula

v’ answer

v answer )

113 | Varel =x-1
2x+1=(x-1)
2x+1=x%-2x+1
x?—4x=0
x{x-4)=0
x=0orx=4
x20or x=4

¥ squaring both sides

¥ standard form

v both x-values
v valid answer 4

1.14 x1=2x>3
x2-2x-3>0
(x=3{x+1)>0
CVsix=—-1;x=3

x<-lor x>3

¥

v standard form

v critical values/factors

V¥ answer 4

-
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1.2 1 1

(1)

)

Vx=2y~2

v'substitution

2y? =5y42=0

@y-D(y-2)=0

¥'standard form

2

OR/OF

..1.+l:'_1

x Yy
x+2=2y

|1 2
—+
X x+2

=1

x2ex-2=0

2

x=-1 or x=2

(x+D(x~-2)=0
x=-1 or x=2

y=l or y=2

M)

@

x+24+2x=xr+2x

y=l or y=2

v'y-values

v'x-values (5)

OR/OF

v 5.[.]
r=3

| v substitution

v standard form
vx-values

v'y-values )

Copyright reserved/Kopiereg voorbehou
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1.3 - 2m+l +2" = 3n+2 —3"
2"(2+1)=3"(3* -1
2"(3)=3"(8)
ZM(3)=3H(23)
SLm=3and n=1
Sm+n=4

OR/OF

2m+l +2m :3n+2 __3n
2"2+1)=3"(3* -1
2" (3) = 3" (8)

2"(3) =3"(2%)

v factors

v 27(3)=3"(2%) (same
bases)
vm=3and n=1

OR/OF

v factors

v 2"(3)=3"(2%) (same

m+n=4 4

2™ =3 bases)

Only trueif m—3=0andn—-1=0 vm-3=0andn-1=0

som+n=4 vm+n=4 4)
[24]
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QUESTION 2/VRAAG 2
2.1.1 T+12+17+.....
T, =a+{n-1)d vd=5
T, =7+ (91-1)5) ¥'substitution into correct
T. =457 formula
n v answer )]
OR/OF OR/OF
d=5 vd=35
L, =5n+2 v'substitution n = 91
T, =5(91)+2
T, =457 v answer (3)

— S, =§[2a+(n—])d]

Sy = %(7+457)

Sy =%[2x7+(91—1)(5)]

v
S, =21112 answer (2)
OR/OF OR/OF

n
S, =—la+!

v'substitution into correct
formula

v substitution into correct
formula

S, =21112 v'answer @
213 T, =7+(n-1)5) ¥substitution into correct

Sn+2=517 formula

5n=>515 v'equate

n=103 v answer (3)
221 T,=3;T,-1,=9 andT,-T, =21

12 33

3 111
VNV N

9 21 33
\12/ 1\2/ v constant second diff = 12
v’ first differences : 33 and
T =3+9+21433+45=111 ' 45
. 2)

OR/OF OR/OF
2a=12 .
a=6 v constant second diff = 12
3(6)+b=9
b=-9
6-9+c=3

v'substitute 5 )

b——

T, =6(5)Y —9(5)+6=111

DEFARTMENT OF BASIC
EDUCATION

PRIVATE BAG X898, PRETORIA 0001
age 028 -1~ 12

APPROVED MARKING GUIDELINE
PUBLIC EXAMINATION
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222 2a=12 v2a=12
a=6
3(6)+b=9 or S5x6+b=21 v'36)+b=9/5x6+b=21
b=-9
6-9+c=3 v 6-9+c=3 3)
c=6
T,=6n"-9n+6
2.2.3 T, =12n-9>0 VT =12n-9
3 3
> = vips =
"7y ">%
- T, is increasing for ne N v increasing for ne N
3)
OR/OF OR/OF
LN ) Ina—o 2
22 2(6) 2a2(6)
?’1:E \/nzi
4 4
~minatn=1for ne N
- T, is increasing for ne N v increasing for ne N
()
[16]
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QUESTION 3/VRAAG 3
3.1.1 T =ar"™

T, =3(2)"" VT = 3(2)n-l (1)
3.12 x

> 3 2798301

p=l 2

53 003464124

12 v'expansion

n=k

3(2)*'1—98301 Tnsk

-1 v'substitution into correct
(2) =32 768 formula
2% =21 OR/OF  k=log,32768
k=15 vk=15 @)

32 . 22 PP

S, = ?[20 +21(3)] substitution into S,

8, =224+ 693

S 22a+693 = -351 +734

44a +1386 = 3a+1468

4la =82
a=2

V' Sy, =22a+693

v'substitution into S

v 8§, =8 +734

v answer (5)

(10]

Copyright reserved/Kopiereg voorbehou
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QUESTION 4/VRAAG 4
4.1 y=—4 Vy=—4 0
4.2 x - intercept: 0=2" —4 vy=0
4=2*
2 V=2 )
. B(2;0)
43 y=2"-4=-3 vy=-3
LAW0;-3)
y=mx+c
3 v gradient
m==
k 3
(=) Ex -3 v'equation (3)
o v
44 k(l):%(l)—3=73~ k(1)
f=2 4= fN=-2
Vertical distance = —% -(-2)= -;-units ¥ answer 3)
4.5 glx)= flx)+4
g(x)=2" ; xe[-2;4) v glx)=2" (1)
4.6 1
Rangeof g: ye Z;]6J
Domain of g :x €| +:16| orfof L<x<16 |7V*€ [l 16 @
2 e 4’")
4.7 g M y —. 2"
glix=2 v'swop x and y
: 1
g (x)=log,x, x ¢ [Z ; ]6) v’ equation
2
[14]
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QUESTION 5/VRAAG 5
5.1 (1;8) Vx=1vy=8 2
5.2
y=_%(0—1)2+3 vx=0
g v’ answer )]
C(O : E]
2
5.3 o d
1 v'substitution (1;8) (1)
d=§
54 YER; 20 v yz0 ()
5.5 ~3<x<0 or x25 vv-3<x<0
OR/OF Y x25 o
xe[~-3; 0)U[5;00)
36 ~2x+k=3 vedprk=d
X . x
—2x* +hx-8=0 v’ standard form
A= (k)? —4(- 2(-8) v'substitution into A
k*-64<0 vA<OorA=0
CV.k=8 ; k=-8
S -8<k<8 orlof ke(-8;8) Vinequality )
OR/OF OR/OF
g'x)=H(x)
8 5 = ,§2_. V=2
%’ *
~8=-2x7
x=+2 v x-values
y=t4 .. B@2;4)andA(-2; - 4) Y y-values
For tangents:
hx)==-2x+k or h(x)=-2x+k
4=-20)+k —4=-2-2)+k
k=8 k=-8
.-8<k<8 orof ke(-8;8) Y inequality -
DEPARTMEN :
‘ Hnucyﬂ%qqmmc
PRIVATE BAG X208, PRETORIA 0007
Copyright reserved/Kopiereg voorbehou
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5.7 h{x)=-2x+8
~2x+8= L
x
-2x* +8x=8
-2x* +8x-8=0
x—4x+4=0
(x-2)"=0
Lx=2 vx=2
f)= % v f(2)
h2)=4 Y h(2)
4= ] +1
2
g 1 v'answer
2 @)
OR/OF OR/OF
15
f@== | Y 22
Tangent point of contact (2 ; 4) Y@
1
S =m—a(2-]? f
2( *+8+ v k)
4=
2
= —--g- v'answer
@
OR/OF OR/OF
g(x)=8x"
g'(x)=-8x~
-2=-8x7?
.1
4 X 3
=2 vix=2
8
= — 4
r=2
R(2;4)
= —l(x—l)2 +8+1
12 v h(2)
4=—5(2-1)2+3+r v f2)
_ 17
i 3 v’answer 4
[18]
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QUESTION 7/VRAAG 7

7.1 £ "()=lim f(x+12— S(x)

1= Hm"“(?‘”’)z “(‘4"2)

v substitution into correct

h-30 h

formula
v (c+h) = —4x? —8xh— 4K

h->0

h

OR/OF

A2 _ Rl AB2 2
f’(x)=lim 4x 8xh—4h’ +4x

Sx+h)=—4(x+h)* = —4x® —8xh—ah*

v/simpliﬁcation

\/common factor

v/answer

OR/OF
ViR = —4x® —8xh— 4K

©)

DBE/November 2023

fx+h)— f(x) =~4x" —8xh—4h* — (—4x?) /:)»n e
— _AR?
or :)"_” f(‘i’;‘ v/simplification
7 0)= i L)1)
)=l ~8xh—4h? ¥/substitution into correct
S = h formula
10Ny = 8x—4h)
f (x) - nlf:l-rnlt} h \/common factor
7 ') =lim(-8x - 45)
| f'{x)=—8x Vianswer (%)
721 | f)=2%"-3x v'6x?
S w=62-3 Vel “ @
7.2.2 32 - '
D, 7.\/; +2x :
[ 2 J cA "“13 i!, CQ(PWJJ‘M A'(fz_-
£ 2 "
D,[?JH +2x"J Vo3 f{ad;—’m '})
14 _l"/ “ derivative with rational exp
: =:§-x 3 —10x \/ V_lox-é " (3) |
.If 1
73 | -6x 2N
6x 8+8 >0 > o _A_'. [ 5 )
xz < '6— {1~ i
W L 7 — 2 3‘\ f" 2\( ]
" CV’s:.:r::—i 0rx=—2- \/CVs.x-_—-; ~s ) i
u‘xﬁ V3 NE) )y )‘L\ oA ¢ ~d
. 2 2 ] / / .
Positive for ; — — answer 3 { i
S () 7755)
LwiH S— [13]
J?%_- 4@ uhﬁ%%i%%i‘BAsac ]
Copyright reserve{Kopiereg voogehou PRUVATE BAG X298, PRETORIS 0007 f
_ e > w2023 -41- 42
J & £ ":j? v ;i
o ,Pfl’fgvfs_n MARKING GUIDELINE ]
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oy bo ! L3 o2 @
QUESTION 6/VRAAG 6 oy bl 2l e ©
6.1.1 A=P{+i) swope A
-

&
-
1200)

19319,48=18 500(l+

(1)

al.*71»50"'L')

F
v n=6
V’;ubstitution into correct

p

formula
r 104429 . d
1 =$/1,04429... " A
( +1200) Dt P L el
L =0,00725... | \
1200 i n
r =8,7% \/a‘nswer %) ;
6.1.2 ; 87 )2 #Ssubstitution into correct
t—=|14+—=—
100 ( 1200] | formula
r=906% w Vanswer 2
6.2.1 A =P(l-in) ; 2
0=10 000{1-0,2n) o Substitution into correct A ' )
=S ’ formula
B answer (2)
6.2.2 Ay
FoX (1+ z) 1
!
x I+-8’2—)60~1 '/I
1200 v n
20 000 87 'substitution into correct
o formula
1200
x =R267,26 v answer
“)
6.3 . A\
p= xl- (l.+ z) /
! ,
_ ! v (2=
0,112\" V'substitution into correct | ““) F F )
20000(1-[ 1+ =—= P
12 ormula
1 600 000 = { o comd”
0,112 “ 4 s
12 L P
6 1+——0’”2) e A p ~M
75 12 . }j.j
( 0,112)"’ 19 A L
1+ —=— =—
12 75
n=log, .. (B) v/correct use of logs
n=-147,80 V1 =-147,80
Tino will make 147 withdrawals of R20 000 v'n=147
&)
[16]
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QUESTION 8/VRAAG 8
8.1 Fl(x)=-3x" +12x-9 v
—3x2 4+12x~9 =0 fl(x)=-3x* +12x-9
x*-4x+3=0 Yi(x)=0
(x-3)}x-D=0

Lx=3 or x=1

fB3)=-3Y +6(3) -9(3)+4=4
SO ==1)° +6(1)* -9 +4=0

v both x-values

v’ both y-values

- turning points are: (3 ; 4) and (1 ; 0) @
8.2 y
X (3;4) v y-intercept
v" both x-intercepts
v . .
5 — both turning points
v shape
@

8.3 O<k<4 orlof ke(0;4)

v'v'k between y-values
of turning points _ (2)

84 | £ (x)=—6x+12=0

Y f(x)=—6x+12

x= 2 /f i (x) = 0
Max at (2 ; 2) v y-value
v y-value
f ! (2) = 3 ] fgradient at I'Value
ny=2=3(x-2) or 2=3(2)+c S
g(x) =3x—4 g(x)=3x-4 equation of tangent
(6)
OR/OF OR/OF
Point of inflection: x = % v 3+l
. 2
x=2 v x-value
Max at (2 ;2) v y-value
r'(2)=3 v gradient at x-value
Sy-2=3(x-2) or 2=3(2)+c .
g(x)=3x-4 g(x)=3x—4 / equation of tangent (6)
85 |tanf=3 v gradient of g
- 8=T7157° v answer (2)
[18]
CEPARTMENT OF BABIC
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QUESTION 9/VRAAG 9
— ||
X o
439 ' ’ 432
 Sibiad —+6
X X
: |
< x+8 >
9.1 432 = xb
o, 432 vp=22
Sh=— x
X
v{x+8
A(x) = (x + 8)(133 + 6) by 5 )
X /(ﬂ.q.ﬁ)
X
A(x) =432+ 64338, 450
X
3
A(x)=ﬁ+6x+480 2
X
9.2 A(x) =3456x7" + 6x + 480 v'3456x7" +6x+480
3456
A)=-22241¢ 3456
(x) . fA’(x)=-—xT+6
3 4;56 4620
3456 = 6x*
S.x=+576 =24cm v answer
3
[6]
" SD%%Tﬂ%.;BAS'C
TRWATE BAG X388, PRETORIA 0009 .
2023 -11- 12
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Xx+8

F 3

v

v

Copyright reserved/Kopiereg voorbehou

I total area = 2(x + 8)(3) +2(432J(4) (432}

22
:

total arca’s 2(4)(ﬂ+6) ()(ﬂ+6J

ol area =43+ 290+ 22 ) +2( 22
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10.1.1 | P(A and B) = P(A) x P(B)
= l X 2 v l X 2
3 4 3 4
1 o1
4 4
@)
10.1.2 | P(A or B) = P(A) + P(B) — P(A and B)
13 1
374 4 v substitution
5
= G v answer
@
OR/OF OR/OF
A \B
P(A or B) = 1.1 1.5 v’ substitution
12 4 2 6
v answer
2
10.2.1
g 072
0,05 v branch 1 with probabilities
S 0,28
NotB ™"
< ° v branch 2 with probabilities
NoSN ''B_~ 035
0,95 v branch 3 with probabilities
NotB™ 0,65
()
10.2.2 | P(NOT below 0°)
= P(S; NOT below 0°) + P(NS ; NOT below 0%) v value of
= 0,05 x 0,28 + 0,95 x 0,6 P(S; NOT below 0°)
=0,6315 - v value of
P(NS ; NOT below 0°)
v answer
3)
103.1 [ n(S)= 10! v 10! 1)
E ,-r..--_,-'-:TinN"I‘ Bia—x‘_gia i
EDUCATIO
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10.3.2 | 4 Options;
2 x8 x7 x 6 x5 x4 x1 x3 x2 x1 = 80 640 v (2x8!)
8 X2 x7 x 6 x5 x4 x3 x1 x2 x] = 80 640 ;
8 x7 x2 x 6 x5 x4 x3 x1 x1 x| = 80 640
8 x7 x 6 x2 x5 x4 x3 x2 x1 x1 = 80 640
Total number of possibilities = 322 560 v'v4(2 x 81) or 322 560
P(5 learners in between) = oy =4 v 322560 4
10! 5 n(S)
030 OR/OF
2 x8 xT7 x 6 x5 x4 x1 x3 x2 x| ‘/(25(8')
4 possible starting positions
8(81)=322 560
P(5 learners in between) = L2 LIRS v 322560
10! 45 n(S)
@)
[15]

TOTAL/TOTAAL: 150

e .TMt’;T'N_'_I: QF BASIC ;
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